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KSF 2018 – selected problems Junior 9th grade

3 points

1. In my family each child has at least two brothers and at least one sister. What is the smallest
possible number of children in my family?

(A) 3 (B) 4 (C) 5 (D) 6 (E) 7

2. Some of the rings in the picture form a chain that includes the ring indicated by the arrow. How
many rings are there in the longest possible chain?

(A) 3 (B) 4 (C) 5 (D) 6 (E) 7

3. The lengths of the two sides of the triangle are 5 and 2, and the length of the third side is an odd
integer number. Find the length of the third side.

(A) 3 (B) 4 (C) 5 (D) 6 (E) 7

4. The distance from the top of the sleeping cat on the floor to the top of the cat sitting on the table
is 150 cm. The distance from the top the cat sitting on the floor to the top on the cat sleeping on the
table is 110 cm. What is the height of the table?

(A) 110 cm (B) 120 cm (C) 130 cm (D) 140 cm (E) 150 cm

5. The sum of 5 consecutive integers is 102018. What is the middle number?

(A) 102013 (B) 52017 (C) 102017 (D) 22018 (E) 2 · 102017
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6. Given three congruent regular hexagons, we call A, B, C the total area of the shaded zones in each
one of the figures. Which of the following statements is true?

(A) A = B = C (B) B = C ̸= A (C) C = A ̸= B

(D) A = B ̸= C (E) Each of the three areas A,B,C has a different value.

7. Mary has collected 42 apples, 60 apricots and 90 cherries. She wants to divide them into identical
piles using all of the fruit and then give a pile to each of her friends. What is the largest number of
piles she can make?

(A) 3 (B) 6 (C) 10 (D) 14 (E) 42

8. Some of the digits in the following correct addition have been replaced by the letters P , Q, R and
S, as shown. How much is P +Q+R + S? P 4 5

+ Q R S

6 5 4

(A) 14 (B) 15 (C) 16 (D) 17 (E) 24

9. What is the sum of 25 % of 2018 and 2018 % of 25?

(A) 1009 (B) 2016 (C) 2018 (D) 3027 (E) 5045

10. In the picture shown you should go from A to B following the arrows. How many different routes
are possible?

BA

(A) 20 (B) 16 (C) 12 (D) 9 (E) 6
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11. Two buildings are located on one street at a distance of 250 metres from each other. There are 100
students living in the first building, and there are 150 students living in the second building. Where
should a bus stop be built so that the total distance that all residents of both buildings have to walk
from this bus stop to their buildings would be the least possible?

(A) in front of the first building (B) 100 metres from the first building

(C) 100 metres from the second building (D) in front of the second building

(E) anywhere between the buildings

12. There are 105 numbers written in a row: 1, 2, 2, 3, 3, 3, 4, 4, 4, 4, 5, 5, 5, 5, 5, ... (Each number n is
written exactly n times). How many of these numbers are divisible by 3?

(A) 4 (B) 12 (C) 21 (D) 30 (E) 45

13. Eight congruent semicircles are drawn inside a square of length 4. What is the area of the non-
shaded part of the square?

(A) 2π (B) 8 (C) 6 + π (D) 3π − 2 (E) 3π

14. On a certain day 40 trains each travelled between two of the towns M , N , O, P and Q. 10 trains
travelled either from or to M . 10 trains travelled either from or to N . 10 trains travelled either from
or to O. 10 trains travelled either from or to P . How many trains travelled from or to Q?

(A) 0 (B) 10 (C) 20 (D) 30 (E) 40

15. At the University of Humanities you can study languages, history and philosophy. 35 % of
students that study languages, study English. 13 % of the university students study a language other
than English. No student studies more than one language. What percentage of the university students
study languages?

(A) 13 % (B) 20 % (C) 22 % (D) 48 % (E) 65 %
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16. Peter wanted to buy a book, but he didn’t have any money. He bought it with the help of his
father and his two brothers. His father gave him half of the amount given by his brothers. His elder
brother gave him one third of what the others gave. The younger brother gave him 10 000. What was
the price of the book?

(A) 24 000 (B) 26 000 (C) 28 000 (D) 30 000 (E) 32 000

17. How many 3-digit numbers are there with the property that the 2-digit number obtained by
deleting the middle digit is equal to one ninth of the original 3-digit number?

(A) 1 (B) 2 (C) 3 (D) 4 (E) 5

18. Viola is practising the long jump. The average distance she has jumped so far today is 3.80 m.
On her next jump, she jumped 3.99 m and her average increased to 3.81 m. What distance must she
jump with her next jump to increase her average to 3.82 m?

(A) 3.97 m (B) 4.00 m (C) 4.01 m (D) 4.03 m (E) 4.04 m

19. How many digits has the number resulting from this calculation: 1

9
× 102018 × (102018 − 1)?

(A) 2017 (B) 2018 (C) 4035 (D) 4036 (E) 4037

20. There are two diagonals drawn in a regular 2018-gon with its vertices numbered from 1 to 2018.
One diagonal connects the vertices with the numbers 18 and 1018, the other connects the vertices with
the numbers 1018 and 2000. How many vertices do the resulting three polygons have?

(A) 38, 983, 1001 (B) 37, 983, 1001 (C) 38, 982, 1001 (D) 37, 982, 1000 (E) 37, 983, 1002

5 points

21. Several integers are written on a blackboard, including the number 2018. The sum of all these
integers is 2018. The product of these integers is also 2018. Which of the following could be the number
of integers written on the blackboard?

(A) 2016 (B) 2017 (C) 2018 (D) 2019 (E) 2020

22. Four positive numbers are given. You choose three of them, calculate their arithmetic mean and
then add the fourth number. This can be done in four different ways. The results are 17, 21, 23 and
29 respectively. What is the largest of the given four numbers?

(A) 12 (B) 15 (C) 21 (D) 24 (E) 29

23. The points A0, A1, A2, ... lie on a line such that A0A1 = 1 and the point An is the midpoint of
the segment An+1An+2 for every non-negative integer n. What is the length of the segment A0A11?

(A) 171 (B) 341 (C) 512 (D) 587 (E) 683
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24. Freda’s flying club designed a flag of a flying dove on a square grid as shown. The area of the dove
is 192 cm2. All parts of the perimeter of the dove are either parts of a circle or straight lines. What
are the dimensions of the flag?

(A) 6 cm×4 cm (B) 12 cm×8 cm (C) 20 cm×12 cm (D) 24 cm×16 cm (E) 30 cm×20 cm

25. At each vertex of the 18-gon in the picture a number should be written which is equal to the sum
of the numbers at the two adjacent vertices. Two of the numbers are given. What number should be
written at the vertex A?

(A) 2018 (B) -20 (C) 18 (D) 38 (E) -38

26. Domino tiles are said to be arranged correctly if the number of spots at the ends that touch for
any two adjacent dominoes are the same. Paulius laid six dominoes in a line as shown in the diagram.
He can make a move by either swapping the position of any two dominoes or by rotating one dominoe.
What is the smallest number of moves he needs to make to arrange all the tiles correctly?

(A) 1 (B) 2 (C) 3 (D) 4

(E) it is impossible to do
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27. Seven small cubes have been deleted from a 3 × 3 × 3 cube (see the picture). We cut this cube
by the plane passing through the centre of the cube and perpendicular to one of its four big diagonals.
What will the cross-section look like?

(A) (B) (C) (D) (E)

28. Azmi, Burhan and Choo went shopping. Burhan spent only 15 % of what Choo spent. However,
Azmi spent 60 % more than Choo. Together they spent 55 USD. How much did Azmi spend?

(A) 3 (B) 20 (C) 25 (D) 26 (E) 32

29. Ed made a large cube by gluing together a number of small identical cubes and then he painted
some of the faces of the large cube. His sister Nicole dropped the cube and it broke into the original
small cubes. 45 of these small cubes didn’t have any painted faces. How many faces of the large cube
did Ed paint?

(A) 2 (B) 3 (C) 4 (D) 5 (E) 6

30. In isosceles triangle ABC, points K and L are marked on sides AB and BC respectively so that
AK = KL = LB and KB = AC. What is the size of angle ABC?

(A) 30◦ (B) 35◦ (C) 36◦ (D) 40◦ (E) 44◦
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Hoja de Respuestas

Nombre:

Institución: Nivel:

01. A B C D E

02. A B C D E

03. A B C D E

04. A B C D E

05. A B C D E

06. A B C D E

07. A B C D E

08. A B C D E

09. A B C D E

10. A B C D E

11. A B C D E

12. A B C D E

13. A B C D E

14. A B C D E

15. A B C D E

16. A B C D E

17. A B C D E

18. A B C D E

19. A B C D E

20. A B C D E

21. A B C D E

22. A B C D E

23. A B C D E

24. A B C D E

25. A B C D E

26. A B C D E

27. A B C D E

28. A B C D E

29. A B C D E

30. A B C D E
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